
SA055 x 2

2SA056 x

4SA070 x

4PS176 x

4PS023 x

2MS390 x

2FB001(M6 x 55) x

2FS105(M8 x 55) x

2FW002(M8) x
2FW001(M6) x 2FW008(M6) x 2FN006(M8) x

2PS020 x 2MS209 x

1FT01 x

13mm x 2

x 2

10mm x 1

=3Kg

FORD TRANSIT CONNECT 2014-

TYPE DESIGNATION FORM A

ITEM NO. PART NUMBER DESCRIPTION Leg Ins/QTY.

1 SA055 Aluminium Bar Leg Assembly - Right 
Hand 2

2 SA056 Aluminum Bar Leg Assembly - Left 
Hand 2

3 SA070 Load Stop - Aluminium Bars 4

4 C04 Two Lock Barrels with Key 
KammBar 2

5 PA192 Leg Housing Box 4
6 PA193 Load Stop Housing Box 1
7 PA194 Bar Housing Box 2
8 PA200 1100 & 1200mm 2 Bar Box 1
9 KK006 KammBar Kit for TA2KS 1

10 LA038 Printed Label, Kit Box 1
11 LA110 KammBar Product Label 1
12 INT54KSK INT54KSK 1

13 EXT25-13 1340mm Crosstube - Aluminium 
Bar 4

14 PS410 KammBar End Cap, Fin Design 4

15 LA176 75 kg KammBar Crosstube TUV 
Label 2

16 PA196 1340, 1420 & 1600mm 2 Bar Box 1

"TA" 4 Leg Fitting Kit - Aluminium BarsTA2KS_g ( 1 of 5 )

Manufactured by Rhino Products Ltd in the United Kingdom
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931



PS176 PS176

PS023 PS023

M8 x 55mm 

M6 x 55 M8 x 55

M6 x 55mm 

"TA" 4 Leg Fitting Kit - Aluminium BarsTA2KS_g ( 2 of 5 )

1. 2. 3.

4.

Manufactured by Rhino Products Ltd in the United Kingdom
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931



"TA" 4 Leg Fitting Kit - Aluminium BarsTA2KS_g ( 3 of 5 )

5. 6. 7.

8. 9. 10.

Manufactured by Rhino Products Ltd in the United Kingdom
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931



"TA" 4 Leg Fitting Kit - Aluminium BarsTA2KS_g ( 4 of 5 )

11. 12.

Manufactured by Rhino Products Ltd in the United Kingdom
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931



"TA" 4 Leg Fitting Kit - Aluminium BarsTA2KS_g ( 5 of 5 )

Manufactured by Rhino Products Ltd in the United Kingdom
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931



13mm x 2

x 2

10mm x 1

3SA055 x

3SA056 x

4SA070 x

4

FS066 x

FW002 x

FS105 x

FW008 xFN006 x FW001 x

PS020 x MS209 x

FT01 x

2

FB001 x 2

2

4 2 2

4 4

1

MS390 x

PS023 x

2

6

PS176 x

PS178 x

4

2

=3Kg

FORD TRANSIT CONNECT 2014-

TYPE DESIGNATION FORM A

ITEM NO. PART NUMBER DESCRIPTION Leg Ins/QTY.

1 SA055 Aluminium Bar Leg Assembly - Right 
Hand 2

2 SA056 Aluminum Bar Leg Assembly - Left 
Hand 2

3 SA070 Load Stop - Aluminium Bars 4

4 C04 Two Lock Barrels with Key 
KammBar 2

5 PA192 Leg Housing Box 4
6 PA193 Load Stop Housing Box 1
7 PA194 Bar Housing Box 2
8 PA200 1100 & 1200mm 2 Bar Box 1
9 KK006 KammBar Kit for TA2KS 1

10 LA038 Printed Label, Kit Box 1
11 LA110 KammBar Product Label 1
12 INT54KSK INT54KSK 1

13 EXT25-13 1340mm Crosstube - Aluminium 
Bar 4

14 PS410 KammBar End Cap, Fin Design 4

15 LA176 75 kg KammBar Crosstube TUV 
Label 2

16 PA196 1340, 1420 & 1600mm 2 Bar Box 1

ITEM NO. PART NUMBER DESCRIPTION Leg ins/QTY.

1 SA055 Aluminium Bar Leg Assembly - Right 
Hand 3

2 SA056 Aluminum Bar Leg Assembly - Left 
Hand 3

3 PS176 22mm x 3 deg Angled Spacer 3
4 SA070 Load Stop - Aluminium Bars 4
5 PA192 Leg Housing Box 6
6 PA193 Load Stop Housing Box 1
7 PA194 Bar Housing Box 4
8 PA195 1100 & 1240mm 4 Bar Box 1
9 PS178 10.5mm Five Hole Parallel Spacer 1

10 C04 Two Lock Barrels with Key KammBar 3
11 LA038 Printed Label, Kit Box 1
12 LA110 KammBar Product Label 1
13 INTA2KS INTA2KS 1
14 PA201 Aluminium Bar Fitting Kit Box 1
15 KK007 KammBar Kit for TA3KS 1

16 EXT25-13 1340mm Crosstube - Aluminium 
Bar 6

17 PS410 KammBar End Cap, Fin Design 6

18 LA176 75 kg KammBar Crosstube TUV 
Label 3

19 PA197 1340, 1420 & 1600mm 3 and 4 
Bar Box 1

"TA" 6 Leg Fitting Kit - Aluminium Bars ( 1 of 5 )

Manufactured by Rhino Products Ltd in the United Kingdom
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931

TA3KS_g



PS176 PS176

PS023 PS023

M8 x 55mm 

M6 x 55 M8 x 55

M6 x 55mm 

M8 x 40mm 

PS023

PS178

M8 x 40

"TA" 6 Leg Fitting Kit - Aluminium Bars ( 2 of 5 )

1. 2. 3.

4.

Manufactured by Rhino Products Ltd in the United Kingdom
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931

TA3KS_g



"TA" 6 Leg Fitting Kit - Aluminium BarsTA3KS_g ( 3 of 5 )

5. 6. 7.

8. 9. 10.

Manufactured by Rhino Products Ltd in the United Kingdom
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931



"TA" 6 Leg Fitting Kit - Aluminium BarsTA3KS_g ( 4 of 5 )

11. 12.

Manufactured by Rhino Products Ltd in the United Kingdom
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931



"TA" 6 Leg Fitting Kit - Aluminium BarsTA3KS_g ( 5 of 5 )

Manufactured by Rhino Products Ltd in the United Kingdom
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931



13mm x 1

PS176 x 4

SA070 x 4

SA056 x 2

SA055 x 2

4PS319 x

1FT01 x

4FW002(M8) x FW009(M8) x 4 4PS208(M8) x

4FS081(M8 x 50) x

= 3KG

VW CADDY5 2020-

TYPE DESIGNATION FORM A

ITEM NO. PART NUMBER DESCRIPTION Instructions 
Legs/QTY.

1 SA055 Aluminium Bar Leg Assembly - Right 
Hand 2

2 SA056 Aluminum Bar Leg Assembly - Left 
Hand 2

3 SA070 Load Stop - Aluminium Bars 4
4 PA192 Leg Housing Box 4
5 PA193 Load Stop Housing Box 1
6 PA194 Bar Housing Box 2
7 PA200 1100 & 1200mm 2 Bar Box 1
8 KK060 KammBar Kit for KD2KS 1
9 LA038 Printed Label, Kit Box 1
10 LA110 KammBar Product Label 1

11 C04 Two Lock Barrels with Key 
KammBar 2

12 INIA4KS INIA4KS 1

"KD" 4 Leg Fitting Kit - Aluminium BarsKD2KS_a ( 1 of 4 )

Manufactured by Rhino Products Ltd in the United Kingdom
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931



PS176

M8 x 50 M8 x 50

PS319

M8 x 50

PS176

PS319

"KD" 4 Leg Fitting Kit - Aluminium BarsKD2KS_a ( 2 of 4 )

1. 2. 3.

4.

Manufactured by Rhino Products Ltd in the United Kingdom
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931



"KD" 4 Leg Fitting Kit - Aluminium BarsKD2KS_a ( 3 of 4 )

5. 6. 7.

8. 9. 10.

Manufactured by Rhino Products Ltd in the United Kingdom
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931



"KD" 4 Leg Fitting Kit - Aluminium BarsKD2KS_a ( 4 of 4 )

11. 12. 13.

14. 15.

Manufactured by Rhino Products Ltd in the United Kingdom
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931



13mm x 1

VW CADDY5 2020-

TYPE DESIGNATION FORM A

4PS176 x PS404 x 2

SA070 x 4

SA056 x 3

SA055 x 3

PS023 x 2 4PS319 x

FT01 x 1

6FW009(M8) xPS208(M8) x 6 FW002(M8) x 6

FS061(M8 x 35) x 2

FS081(M8 x 50) x 4

= 3KG

ITEM NO. PART NUMBER DESCRIPTION Instructions 
Legs/QTY.

1 SA055 Aluminium Bar Leg Assembly - Right 
Hand 3

2 SA056 Aluminum Bar Leg Assembly - Left 
Hand 3

3 SA070 Load Stop - Aluminium Bars 4
4 PA192 Leg Housing Box 6
5 PA193 Load Stop Housing Box 1
6 PA194 Bar Housing Box 4
7 PA195 1100 & 1240mm 4 Bar Box 1
8 KK059 KammBar Kit for KD3KS 1
9 LA038 Printed Label, Kit Box 1
10 LA110 KammBar Product Label 1

11 C04 Two Lock Barrels with Key 
KammBar 3

12 PA201 Aluminium Bar Fitting Kit Box 1

13 INIA4KS INIA4KS 1

"KD" 6 Leg Fitting Kit - Aluminium BarsKD3KS_a ( 1 of 4 )

Manufactured by Rhino Products Ltd in the United Kingdom
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931



 PS023 = 3mm 

 PS319 = 6mm 

PS176

M8 x 50 M8 x 50

M8 x 35

PS319

M8 x 50

M8 x 35

PS023

PS176

PS319

PS404

"KD" 6 Leg Fitting Kit - Aluminium BarsKD3KS_a ( 2 of 4 )

1. 2. 3.

4.

Manufactured by Rhino Products Ltd in the United Kingdom
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931



"KD" 6 Leg Fitting Kit - Aluminium BarsKD3KS_a ( 3 of 4 )

5. 6. 7.

8. 9. 10.

Manufactured by Rhino Products Ltd in the United Kingdom
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931



"KD" 6 Leg Fitting Kit - Aluminium BarsKD3KS_a ( 4 of 4 )

11. 12. 13.

14. 15.

Manufactured by Rhino Products Ltd in the United Kingdom
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931



13mm x 1

VW CADDY5 2020-

TYPE DESIGNATION FORM A

SA070 x 4

SA056 x 4

SA055 x 4

4PS404 xPS176 x 4

PS319 x 44PS023 x

4FS081(M8 x 50) x

4FS061(M8 x 35) x

8FW002(M8) x8 FW009(M8) x 8

1FT01 x

PS208(M8) x

= 3KG

ITEM NO. PART NUMBER DESCRIPTION Instructions 
Legs/QTY.

1 SA055 Aluminium Bar Leg Assembly - Right 
Hand 4

2 SA056 Aluminum Bar Leg Assembly - Left 
Hand 4

3 SA070 Load Stop - Aluminium Bars 4
4 PA192 Leg Housing Box 8
5 PA193 Load Stop Housing Box 1
6 PA194 Bar Housing Box 4
7 PA195 1100 & 1240mm 4 Bar Box 1
8 KK072 KammBar Kit for KD4KS 1
9 LA038 Printed Label, Kit Box 1
10 LA110 KammBar Product Label 1

11 C04 Two Lock Barrels with Key 
KammBar 4

12 INIA4KS INIA4KS 1

13 EXT25-11 1100mm Crosstube - Aluminium 
Bar 1

14 PS410 KammBar End Cap, Fin Design 2

15 LA176 75 kg KammBar Crosstube TUV 
Label 1

"KD" 8 Leg Fitting Kit - Aluminium BarsKD4KS_a ( 1 of 4 )

Manufactured by Rhino Products Ltd in the United Kingdom
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931



 PS023 = 3mm 

 PS319 = 6mm 

PS176

M8 x 50 M8 x 50

M8 x 35

PS319

M8 x 50

M8 x 35

PS023
PS176
PS319

PS404 PS404
PS023

M8 x 35

"KD" 8 Leg Fitting Kit - Aluminium BarsKD4KS_a ( 2 of 4 )

1. 2. 3.

4.

Manufactured by Rhino Products Ltd in the United Kingdom
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931



"KD" 8 Leg Fitting Kit - Aluminium BarsKD4KS_a ( 3 of 4 )

5. 6. 7.

8. 9. 10.

Manufactured by Rhino Products Ltd in the United Kingdom
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931



"KD" 8 Leg Fitting Kit - Aluminium BarsKD4KS_a ( 4 of 4 )

11. 12. 13.

14. 15.

Manufactured by Rhino Products Ltd in the United Kingdom
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3

	Sheet1.5
	Drawing View12
	Drawing View13

	Sheet2
	Sheet3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8

	Sheet4
	Sheet5
	Sheet6
	Sheet7
	TA3KS.pdf
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3

	Sheet1.5
	Drawing View16
	Drawing View17

	Sheet2
	Sheet3
	Drawing View4
	Drawing View8
	Drawing View12
	Drawing View13
	Drawing View15

	Sheet4
	Sheet5
	Sheet6
	Sheet7

	KD2KS.pdf
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View4

	Sheet2
	Drawing View13
	Drawing View15

	Sheet3
	Sheet4
	Drawing View5
	Drawing View7
	Drawing View12
	Drawing View16
	Drawing View17

	Sheet5
	Drawing View10

	Sheet6
	Drawing View11

	Sheet7

	KD3KS.pdf
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View4

	Sheet2
	Drawing View13
	Drawing View15

	Sheet3
	Sheet4
	Drawing View5
	Drawing View7
	Drawing View12
	Drawing View16
	Drawing View17

	Sheet5
	Drawing View10
	Drawing View18
	Drawing View19

	Sheet6
	Drawing View11

	Sheet7

	KD4KS.pdf
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View4

	Sheet2
	Drawing View13
	Drawing View15

	Sheet3
	Sheet4
	Drawing View5
	Drawing View12
	Drawing View20
	Drawing View21
	Drawing View22

	Sheet5
	Drawing View10
	Drawing View18
	Drawing View19

	Sheet6
	Drawing View11

	Sheet7


